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s ead)
loge 4 + loges 9 = logg(4 X 9) = log, 36 = 2

el Bl Y1 e DG 510 oy B (T—13) cpyledl

(S 9lwe 2l0g, 8+ log 125 ,laied) (7)

OF ‘6 (d) 15

s ed)
2log, 8 + logs 125 = log,(8)? + logs 5°

( Asall A alaaiidy § ) =34+3 =6
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ool L) (o I8 510 sy ME (T—=13) oyl &

&3l log45 OB log3 =x , log5 =y O 13 (8)

xX+y o 2x+y @ 2y +x @ x%y
+ dd)

log45 = log5x9 = log5 %X 3% = log5 + log3?
=log5+ 2log3 =y + 2x

(S 9w log, X + log22x+log2%,x >0 )

o ® oF @
log, x + log, 2x + logzéz logzx.Zx.xiz= log,2 = 1

Sl m+n—1 JAid OB log2 =m,log3 =n 0K 13 (10)

@ l0g0.06 o l0g0.6 @ log 6 @ log 60

2x3 : )
m+n—1=log2+ log3— logl0 = logﬁz log 0.6

h b Logd il SN i obm=3,n=2 Lae (11)

@ logn? - logm?® ° logm? — log n? @ 3logn—2logm @ 2logm—3logn

2 )
(a) logn2 — log m3 = log 22 — log 33 = log;—7
®) logm?* —logn* = log3% —log2% = log%
(© 3logn —2logm = log2°® —log3* = logg
(d 2logm —3logn = log3? —log2® = log%

. log(3/ iz) Jagd) 3 S (12)

@ 3log§3 @ 7) log( 8—x° ° log2 — logx @ log2 —3logx
3[8 )\ _ 8 %_ _ _ e
log<\/;> = log (F) = log (F) = log(;) = log2 —logx
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4-5 5
) PRI N | (B I RO PR |
Exponential and Logarithmic Equations
s 52 30 o yd B i sezna]! ‘

Aol 8l I 13 () 3 Fonnt 8 I 13 () Mo (1-5) ool

° (b) x=% 52 0% =3 Al = (1)

(Gapily)  2logx= -1 = logx= ~3= -0 Sa=l e
Qo ¢ P RSk - ()
1 s )
2logx = —1 = logx = -5 = —0.5
x = 10795 Al a8 413 suall
6 @ x==—50L loglx+6)=0 oL 13 (3)
. )
x+6=10"=1 43 sal JJss loglx+6)=0
x=1-6=-5 l&
log(—=5+6) =logl =0 = -5 Al oo gl
& @ o= 10230 o 46 s - (0)
. ) o )
log 14°* = log 146 Okl e JA3L 0 1497 = 146
O9xlog14 =log 146 = 9x = L8188, = L8140
log 14 9log14
@ ° 5% 10% s 3logx—log6+log2.4 =9 Aslaal = (5
s )
3logx — log6 + log2.4 =9
24 4x6
3logx — log6 + logE =9 = 3logx — log6 + logT =9
66
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@ X=15

43

3logx — log6 + log4 + log6 — log10 =9
3logx + log4 =9+ 1 =logx3 = log10'° —log4

1010
4.

x3 = 25x 108 = x V25 x 103

x =5 X10% e sasdll

= log(25 x 109)

logx® = log

3log(5 X 10%) — log6 + log2.4 ~ 14.097 #9

el L) s D101 A1 50y B (6—14) coyledl B
OB (15)% =356 O 13| (6)

o x= 14.5 @ x=153 @ x=~163
s )

(1.5)* =356 = log(1.5)* =1log(356)

xlog 1.5 = 10g(356) = x = —£3%% + 14.48

log 1.5
sl e dad S5 gl A (4
(a) x =15 (1.5)' = 437.89 + 356,

(b) x =14.5 (1.5)'*° = 357.538 ~ 357.538
32 8+ 10% = 1008 dsleed) > (7)

X = 3.8 x=3 x=2
@ X~ 3.5 ° X @ X -

8+ 10* = 1008 = 10 = 1008 —8 = 1000 = 103

oL 2% =512 o5 13 (8)

—9 ° 23 x=-3 x=-9
@ X X v @ X e

¥ =512 =2 =29 = x2=9 = x = +3

b 2logx=-2 o513 (9)
@ x =10%° @ x =102 @ x=10"%

2logx=-2 = logx=—-1 = x = 1071

2 )
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2 log(x?+2) =log(5x —4) @sladdl > icsams (10)

@ 2 (®) 13} o (@) {-2.-3)
s Cedd)
log(x?+2) = log(5x —4) = x*+2=5x—4

X2 +5x—6=0 = x=3,x=2

:f lng(/\'z—,\') =1 :a-bb%“o-H UL’“ 3-9}0-7.'—‘ (1 1)

(® -1 ® (1.2} Q (@ {-1.-2)
: )
log,(x?> —x) =1 = log,(x*> —x) = log, 2
x>’ —x=2 = x*—-x—-2=0

x=2 ER-(0,1) , x=-1€eR-(0,1)
;32 log(x+21) + logx = 2 sl 1> (12)

64 (b) -25. 4 (©) 25 (d) 4.25 L

log(x + 21) + log(x) =2 = log(x (x + 21)) = log 100
e e I = - 1 2T =" 1205 —100=10
x=-—25¢(0,0)

Al Yo k=3 0 (13)

@ log 9 = % @ Iog3()«‘2 +1)=2 ° Iog})«‘z +log.x=4

o“.‘:""‘"“

pe=d (050 |,

(a) log(6-2) =1

loggx®+ logax =4 = loggx*=4 = x*=3* =>x= 43
;32 log 81 —log 9=2 dslxad! > (14)

® -3 ® ¥ o: @
s )

log,81 — log,9=2 = logx%zz = log,9=2 =9= x*=x =13
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J g'.:,w\ ﬁ)b}ﬁ\

Natural Logarithm

48 g0 g2 )03 B i sareall )

Aol 8l I8 13) () 5 ot B0 <13 () b (1-5) sl &

@ log4(lne4)= 1 (1)

s )
logs(Ine*) = logs(4lne) = log, 4 =1

( Asalal) A2Y) alaanuly )

o 4in8 +In10 = 4In80 (2)

e
4In8+4+ In10= In8*x 10 = In40960
, 41n80 = In 80% = In40960000

4 1n8+ In10# 4 In80
( Aaulall A alaanuly )

° @ ne* =2 (3)

s il
Ine?=2Ine=2 ( Aalall A Alaail )

@ c e 52 Inx=-2 bkl > (4)

1 : )
Inx=-2=x=e?=x== J x=e? el

Q @ 5in3 w2 €5 +4 =7 Wslxel) = (5)

44

;‘,\,u.d\
x

es+4=7 =e5=3 = lnes= In3 :,'gz In3 =x=51In3

(Al Y aadid s x =5 1n3 oo U sl )

68
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doezeall il Je J1ud1 8 511 }GJJ:LE‘(6—14)@)L¢J\3
WSS A ol g _}.(.% e 3m4-5in2 (6)

@ In(-18) @ 1/1(%) ° n2 @ In32

3
3In4—51In2 = In43 — In25 = 1n%= In 2

: )

( @sdaaagsn dalall AV aladiad 1)
Lé.j\"""’ elnlO (7)

- Ok OX @ 10

eln10 =10 bl ol sl (al & e
(Alall AV ot o 1)

:e,xz\.ud\

32 In(2m+3) = 8 Wslxod) = (8)
8 8

(a) -3 (o) &3 ’ e -3 (@) '3

8 _
In(2m+3)=8 = 2m+3=¢® =2m=e"-3 mm= "2

o2 ndr? =3 sl - (9)
3 3
(= e —e7 6_7 3 3
(@) 5 (b) 5. Oks (@) o _¢3
S A Jae 4 X ad e bl (o el
412>0 =2 t2>0 =2 |r|>0 sasdlldc gaaa In4t2=3

R={0} = oo de sane
I =8 = N2% =3 =rInlZr) =3 = Il 2| =3

;A,a::u.“

N

e

3 i e%
Inj2r| === |2r|= ez >[Il == =r=+=—
2 2 2

csp e™ =10 Wbl = (10)

°'V: bl (b) in5 = (@) 210

: aed)
=10 s i e 4 81
Ine? = In10 = 2x = In10 = x = ——
68
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Wslrell |- 2 gores 2 {7} (11)

° Inx=2 @ Inx*=2 @ Inx*=4 @ nx=4

Inx =2 = x =e? )5y geall A Jsa

;c,a..xul\

2 e = 13 bl - (12)

v

°x=lnl3+1 @ x=1Inl3-1 @ x=1Inl3 @ x=1In12
eXt1l =13 Ol i jle o1 2als

Ine**!=1n13 =2x4+1=1In13 = x=In13-1

:A,a:wa.“

8 n(x-2)2 =6 s > (13)

@ 24+¢’ @ 2 _¢? ° 2+e’ @ 2+eb

In(x—2)2=6 = 2In|]x—2|=6 = In|x—2| = §=3

;a,a:u.d\

x—2|=e® =2x—2=+e° =2x=2 + €3

- (-}7_1 +3=8 :\JD\MJ‘ VL?- (]4)

i

@ x=2In5-1 ° x=2h5-2 @ x=2In4 @ ,\‘:%(/115—1)

;g,u.d\
T+1 i1 , -
ez’ +3 =8 = ez =8-3=5 Okl e sl

X

Inezt!

=5 = §+1= e :§= e’—1 =x=2("-1)

x=—-24+2e> =25 =2
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a7

O
SJ 6 sl btz

The Vector in the Plane

i 42 3 opyled B is sl ’
.a:.bus)w\u&\sg@,a’wa)wu\sug@ﬁ‘(1—4)&,@\3
A(2.1).B(-3.0).C(3.-4).D(x.y) a1 LLal) Es?\.\;-’};\ RN 59 =W

G (—5.—1)}A:mitzjoj\wvmé;m <l s (1)
)
s A il gl Al BA Aga sall daail] auia sall Ania
(x4 — x5 94— ¥p)=(2—(-3),1-0)=(5.1)

@ ° <6.4> 2 BC oS+ (2)

B : sl
(BC) = (x¢ — xp ,yc— yp )= (3—(-3),—4—0)= (6,—4)

. MO bl Gl a ABC i) (3)
: el

(BC) = (6,—4) ,(AB)=(-5,-1)
(ACY = (x¢c — X4 ,Yc— Ya )= (3—2,—4—1)= (1,-5)
IBC|| = J(6)? + (—4)Z = V36 + 16 = V52 units
|AC|| = V(D2 + (=5)2 = Y1+ 25 = V26 units
|4B|| = /(=52 + (-1)? = V25 + 1 = V52 units
[AC]| = [[AB[| ¥ cebeal) gildaia 2

c (b) x=-2,y=-5.0b <AB>=< (D > 05 13 (4)

;g.}.u!\

D(x,y) Juas

(CD)= (xp — Xc ,yp— Y )= (x=3,y+ 4)
(CDY=(AB) = (x—3,y+ 4)= (-5,-1) =>x= -2,y= -5
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e i Y e JI0VE S0 oy (B (5—8) (el @
U=<-=2,2> 0 13 1Y S gl B (5)
(S shomt Slid] ) el o gall BV as U \gmezy Ayl M3 0L
(a) 45° (b) -45° ’ 135 (@) 225°
P [ R [ P R B x= -2 ,y= u= (=2,2)
6=180"—45 =135 4 a=tan'|Z|=45 =

(S sl Yy OB 8> g ases 1y O 13) U =< v é__‘-\»}’\ (S siamed) & s (6)

@ le @ v/1133 @ 153 a i%

12 5 . . = 12
y=ti-dhr=tl e d= @)

02 A(1,3).B(3,2),¢(0.- 1), D(-4,1) .1ad) Y (S 5] \;é;,i.—l 7)

<AB >-< CD > @ <AB >——< CD >

:&Tg...d\
A(1,3),B(3,2),c(0,-1),D (4,1

(AB) = (xg — x4 ,yvg— Ya )= (3—1,2—2)= (1,—-1)

(CDY= (xp — Xc ,yp— Ve )= (—4—0,1+ 1)= (—4,2)

(CD)y = —2(AB)

0B <EF >=<EG > 05 3 E(2,4),F(-1,-5),G(x,y) :BEdl Sy ¢ a2 05U (8)

3

(S sl (X, y)

° (—1.-5) (b) -5.-13) (©) 6.13) (@) 1.5

E(2,4),F(—1,-5),G (x,y)

;‘7\2\“3\

(EF) = (EG)
(=3,-9)=(x—2,y—4)
x=-1,y=5 = G(-1,-5)

73
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SJ g by Slgrmsed! por

Addition and Subtraction of Vectors

is o250 pyled B ds seanl! ‘
Al 3Ll ol \51@, s Byl SIS \51@,_}.1}'9 (1=5) ooyl &

@ o AB+BC =AC :0 <AB >+<BC >=<AC > 05 13 (1)

(4Cy = (AB)+ (BC) el

( Autiud ahill Glo Guly Clgalad o BT JLd 318)

° @ <AC>+<BA>+<CB>=0 (2)

(AC) + (BA) + (CB) = (AC)+ (CB) + (BA) = (4AB) + (BA) = (AA) =

BA =<-23> BF=<1,4> .l

‘.-‘J
° (b) <BC>=<3,1> .
i

(BC) = (BF)— (BA)
(BC) = (14)— (-2,3) = (1L4) + (2,—3)

(BC) = (3,1)
A B

(@) G CAC>+<AD > =< AL > 3 <AL >=< BD > ABCD Kl 3 (4)

E
@) 2 ) 1
A > D
4 >D A‘ 1D
B C
(AF)y= (BD)= (BC)+(BA) (1) &, Jsab 3 A
(AFy= (BD)= (BC)+(CD)  (2) &) Ji /
- (AF) = (BD)= (BA)+(AD)  (3) A, Ji 4
(AC)+(AD) 1 ssba¥ Legha K5
B C



User
49


Q @ <AB>-<AC>+<BC>-<BA >=<AB > ABC &l & (5)

(ABY—(AC)+ (BC)—(BA)= (AB)+(BC)+ (CA)+ (4B) e
= (AC)+(CB) = (4AB)
LT =<AC>+2<AB >-<BC > 0K 13 (6)
(a) T-%<aB> (b) T=-7<AB>
Q. - (d) L--3<4B>

L= (AC)+2(AB)— (BC)=(AC)+2(AB)+ (CB) P
—(AC)+ (CB) + 2(AB) = (AB)+ 2(AB) = 3(4B)
(S gl <AM > OB <AM >=237-j)+3(=21)-2j 5 130 (7)
(a) 2i-3 (b) 37-2
Q 4 (d) 6i-6f

WY :t,\zu.ul\
(AM)y=2(31—j)+3(-21)—2] =(61—2])+ (—61)—2]=—4]

(> D S 5L A(=2.1),B(0,-2),C(3, 1) i 35T (55 524 ABCD (8)

(a) (2.2) (b) (-1,2) Qo > (@) (1,-2)
: e
¢l ¢ jsie ABCD  JSi) D(x,y) Joas
s (BA) = (CD)
(-2,3)=(x-3,y+1)
X=—k ; =2

(B X Aed 0Ll e Olgmia Lea U=4i-2j , V=xi-j (9)

O: (®) -2 (© 8 (@) -8

s el

A A N

x 1 C
—==-=22x=4 =5x=2  J
4 2 i Xy Yu
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51

Ao diler| e foamed (1) B (D oy j03 IS Coslis o (2) AW o 5! (Ol ] (10—13) cpyledl B

E

0

N

O’)\.Gi Jg..‘&.“ k.«’"

(2) i@ (1) a5

CIOICIO,

g - & 3

(o ) AB+AD- (10)
° CE+CF= (11)

¢ il oY (4B)+ (AD) = (AC) Ji 5 (10)

ABCD #3-2Y) )l st Jo5 A (2
N (CE)+ (CF)= 0 JS8& ge (11)

A DU G sSa el e JS O

(2) Al (1) &)

@EOEE

o

o §

S

0 EA= (12)
° 20C= (13)

AE diaiia B akill oY (FA)=2(B4) : Jd e (12)

(EAY = (BA) oY
20C = AC : JS& o (13)

20C = — CA : o Julug
76
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Scalar Product

48 g g0 (1)l B &5 gamal) )

Aol 31 38131 () 3 Bt B ylalt 35131 () Jlb (1-6) ool
G ulv Oobdev=0 0513 (1)
;&7\9“:3\

Ui @y Juala g g0

° x==10 0B =<-2,x>v=<51> ulv o513 (2)

U.7=0=-2x5+x=0=-10+x=0 M ovulv e
x =10
C. IO, (- 7)-W=—8 0 W =57+ =3 O 13| (3)
: )
(u—v).w=u.w—-v.w=—-5-3= -8
° @ AB+AC=-6 0l (A(-1,2),B(2,3),C(-4,5) =35 13| (4)
s )

AB={(2+1,3-2)=(3, 1)
AC = (—4+1,5-2)=(=3, 3)
AB.AC = (3, 1).(—3,3)= —9+3= —6

() ° [ IM =10 0B (2.(-3.4), M(0.5) <3513 (5)
: )

LM=(0—-(=3),5—-4)= (3, 1)

1L0]| = V32 + 17 = V19

o © A=<2,-3>B=<1,0> & $smal) 9 0lems 4,8 (6)
B /13
cos(A,B) =2 3

2 ed)

AB (2,-3).(1,0) _ 240 ) Vi3
1

cos(A. B) = [T = Varowvirs — v
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ol L) e D113 SN ey B (T—14) copled) g

(S mOB (u=<2,-2> v=<-1l,m> u-v=3 05 13 (7)

o
IJ|| N
®
1N
=
©
[
|~

;&,\zp.ul\
Uv=3 = (2,-2).(-1,m)=3 —2-2m=3
—2-2m=3 = -2m=5 =>m= - -
AR Je CJ g3 50a)) Lained) 52 H ABC Ehae 3 (8)
.
AB-AC -
4
A 2 H 4 B
(a) -6 alz (o) -12 (@) 6
;c,nzu.d\
A(0,0),H (2,0),B(6,0),C(2,y) Al o (s

AB = (6,0) , AC = (2,y)
AB. AC = (6,0).(2,y) =12+ 0= 12

AB=AC=3cm.mBC .BA)=70" Ll V,L<-'""\ \59 (9)

(o

& g9l ABCAC

/) ,
B C
(a) 23 ° 6.8 (03 (@) 23

AB. AC = ||4B]||. || AC|| cos(AB. AC) = 3 x 3 cos(40°)

=9cos(40°) ~ 6.89
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D 3 c i (L) Sl L)) W36 e 42 ABCD (10)

2 AB=5cm,AO=2cm,0D =2cm,CD = 3cm
O é}\"“"i O—B-'T

2

F—
a 11 @ —11 @ 12 @ “12 s

0B=0A+AB ,0C =0D+ DC

0B.0C = (0A+AB).(0D+DC)

= (0A.0D + 0D.DC) + ( 0A.AB + AB.DC)

— c—

OA.DC = 2%x2cos180  +2x3cos90 + 2 X 5cos90°
+2x5c0s0°= —44+0+0+15=11

|

(11) AB+AC= I S
3 vl
A 2 :c,&md\
1
\ . AB = (2—(=2),4—2)= (4,2)
32\ [ 1 234156% .
\ AC = (0—-(-2),-3-2)= (2,-5)
~NC AB .AC =(4,2).(2,-5)=4%x2+2 x(=5)= -2

() 2 o—z (o) 18 (@ o

cos (AB,AC) = « hliedl S0 & (12)

YA
6]C L 3 )
Pl AB = (3—(=3),0—-2)= (6,-2)
4 i
A \7 AB .AC =(6,-2).(3,4)=6x3+4 x(=2)= 10
N 1\”\;31 56X |14B|| = V62 + (=2)* =210 , |[AC| = 3%+ (4)? =5
L AT e 10 1
cos(4B .AC ) = s=—= 7=

79
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u

lsmOb u=<-5m>v=<23>aulv o513 (13)

g
Q" ® 1y (© =L

W=0=>-5%Xx2+3m =0 =-10+3m=0 o

3m = 10 =>m=:—0

15
2

—_

vu lv

;g,wd\

(S 3l O :Ssy m(BA ,BC) 0L AB-BC=-2 08 13 (14)

° 60° @ 28° 6 122°

90° < cos(4AB .AC ) < 180°0i »¥ AB .AC

m(AB .AC ) =122

@ 50°

-2,-2<0

:g..ud‘
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56

® @
o ©

® @

® @
®© @

ylaadl y e anzmol)

Statistical Population and Sampling

Wb g g 2 ylei Bis gonad) )

At 3l 513 () ot B <it5131 (@) b (1-5) cayleh @

S ;:k’t“-:-”-'-‘_‘;“sj\-.& 2()1(,)@?_‘\;;‘\&;'9_\:}\},&}\ (1)
callall ) gal) aae waad (e Basl g dde DA Ay 1 o)

,/._“U L_S‘ Yc,’b -«\}-‘JA r)"—\;j.f‘l"i: I )‘;)' J.\.aj:\...,.-\).k.“ 5.5\.:'-} (2)

s el
L Sl g aaad dd ) o
33 o sl Lol 15T 23 5 2]l sl izl Sy (3)
sl 4}?3

A s aead)
Aland) £ 551 aan aan (Sa 4y

3 i 1S UL g8 L QLS b Slminall 306 (4)

s )
daaS clily g8 AUl g Wase aglaa Le QS S cladial) s

A BAS Sl pnd LY S5 e (5)
e B o S 5N oy B (6—10) oyl &
055 2SS oL (6)

Lads 45 L e ol deesl e

s el
Ay g Aan) ¢ 985 Al clibd)

Ul b 8 ezl UL (7)

<@ O O

2 )
LAzl clily A 5 paieal) clilal)
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56

Aol 1er Y1 e JU3 S0 oy W5 ((6—10) osted 8

el a5l ol e (8)

Aylao ° M el ()

G Loa U1 ) @ Bylead) y Lol2)l sl @

)
. ;\nga.d\ em eﬂ\d;\nA:a ;\ﬁ! Al

0SS 1Sl UL (9)

aib 45 e 45 ol el ()
;‘,\*ud\
il Cha

ULy o 55k 18 285 S Bl B pdalial sae (10)
it ® SO
i @ s @

s ed)
 Aadalia doaS iy o8 B Le 98 a8 5 S5l B Cpaalinl) 2
Cdslall 90X axe YA e Cmaalal) as 48 pa oSas AN
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@ ©

® @

Sl

Samples

i8530 30 (i ylad B A sazmol) )
At 3Ll IS 131 (b) 5 s B0 i 131 () Jib ((1-5) oyl &
A g Ay by dna) s C“MU ez VL'ééT e J gl (1)

.ol ~ wiien A : ‘.‘:""‘3\
5l e cpase O5S8 A) pliall Al Hlasiuly a8

bl ) gl duall g Ao ) &) gl Al s B - 0 Y (2)

. Zuilate Lol e pen Qe b Alaguad) A0 el Aisel

Lt Lad dilisa Cilsls (e 55 (5] Analiia e e pana b Aghalall Al

® @

@ O

® @

43+4(70)=
43+4(70 )=

57

sty i Auclate Sada (K o1,

Bl S
e = patoall o (3)
s ed)
AT
- : = d3lxdll
A gl g2a o
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